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1. BEEROE
(1) BENE
EARMEEERE 1 1 0
FEAPA ST HURLE 1 1 0
FNEEEERLE 2,140 2,300 A 160
FrEE EES BURLE 2,140 2,300 A 160
ZRMEX T 812 816 A4
= B X (1) 72 96 A 24
B XK F A+ (HE) 740 720 20
THAE &% 1,250 1,250 0
AR AR & 1,250 " 1,250 0
SM—FH & 500 500 0
THR—RFTE 500 500 0
ZRAHEE 50 50 0
THAaHe 50 50 0
MER S 327 417 A 90
2R 2 2 0
5% B st 130 200 A 70
A 195 215 A 20
BRI EFT 5,080 5,334 A 254
(2) BEEH
HER 4,752 4,499 253
i GOt ¢ 1,900 1,590 310
BIEERE 410 411 Al
THFEME 100 100 0
FI Rl S A 710 700 10
FHRER 88 90 | A2
SHLE 130 130 0
BEH 0 0 0
FHCE 14 8 6
g =Lk 60 60 0
B 310 310 0
Bk 4 0 0 0
HHER 850 850 0
Megy 180 250 A 70




# B FEE AR T-E4R B M
B 10,475 10,402 73
ek 4,500 4,500 0
HEEY 1,858 1,658 200
IEERFE 930 930 0
IBIRAG T R 375 375 0
B A 60 60 0
i Gty 600 750 A 150
RS ERE 250 250 0
HEERLE 100 100 0
FIRI S A2 145 135 10
HHRE R 50 50 0
ek 200 200 0
=S 550 750 A 200
FHoE 31 11 20
AHE < 300 407 A 107
Z3est 366 66 300
B 110 110 0
M 50 50 0
R ERE - 15,227 14,901 326
24 HRR S TR TR A 10,147 A 9,567 A 580
2. RENEBOR 0 0 0
(1) BEI/MNE 0 0 0
BESMRLEE 0 0 0
(2) BRESEA 0 0 0
RS AR 0 0 0
= R A e 0 0 0
244 30— fi T Bk 7 Y el A 10,147 A 9,567 A 580
—RERMES ERS 200,767 210,334 A 9,567
— AR EM EE RS 190,620 200,767 A 10,147
T $8EEBRE SR O 0 0 0
U HATE T IE LR RE A IRAE 0 0 0
R ERMERERS 0 0 0
EEEWMESRES 0 0 0
M EMRMEHRER 190,620 200,767 A 10,147




